17. The losers under rent control include

& Poll locked. Responses not accepted.

long-time renters who keep
their apartments.

renters who live in marginal
apartments that are taken off 10%
the market.

landlords. 34%

b) and ¢)
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& Poll locked. Responses not accepted.

A) lowers the price received |
by farmers. 240

B) decreases the quantity
supplied in the market. %

C) raises the price received
by farmers.

D) prevents the

deadweight loss from 24%,
underproduction.

E) decreases total revenue
received by farmers.
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19 When producing a good creates a negative externality

& Poll locked. Responses not accepted.

Private supply increases

Private supply decreases |} 3%

Private supply curve
overstates the marginal || 194
social cost of the good

Private supply curve
understates the marginal
social cost of the good
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21 During the next hour John can choose one of the following

three activities: playing basketball, watching television, or
reading a book. The opportunity cost of reading a book

& Poll locked. Responses not accepted.

A) depends on how much the book cost when it
was purchased.

B) is the value of playing basketball if John 0
prefers that to watching television. v 0%

C) is the value of playing basketball and the |
value of watching television. 94%

D) depends on how much John enjoys the book. 6%%0

E) is the value of watching television if John
prefers playing basketball to watching television.
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20 When consuming a good creates a positive externality

& Poll locked. Responses not accepted.

Private demand D
INcreases 1%

Private demand curve
understates the
marginal social benefit
of the good

Private demand
decreases

Private demand curve
overstates the marginal 6%
social benefit of the good
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21. Minimum wage is an example of:

& Poll locked. Responses not accepted.

A) a fair wage 9%

B) a price control

C) the equilibrium )
market wage 4%

D) a price ceiling | 2%
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22. The imposition of a price ceiling which is set below the

market equilibrium will result in:

& Poll locked. Responses not accepted.

A) encourage demand | 2%

B) force the price ceiling price to i
move back to the equilibrium 12%

D) an excess of demand over
supply

26%

0% 10% 20% 30% 40% 50%



23. A publicgoodis..

& Poll locked. Responses not accepted.

C) rival and

excludable.| 470

A) nonrival and
nonexcludable.

B) produced by
monopolies.

D) rival and
nonexcludable 35%

E) nonrival and
excludable. 8%
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24. Private goods are

& Poll locked. Responses not accepted.

A) nonrival and
excludable.

B) nonrival and
nonexcludable.

C) always produced in a
non-regulated market.

E) rival and
nonexcludable. | 170
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25. An example of a public good is

& Poll locked. Responses not accepted.

A) national
defence.

B) a Ford truck. | 1%

C) a loaf of bread. | 1%

D) a home
computer.

E) a television.| 1%
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